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3. This booklet contains 100 Questions and candidates shall answer all these in 180 minutes.

& BTBgo wEBES" 100 Eheo G0 58050 egighen D)ok 180 AT oS arened F0oSSBM.

4. One mark will be awarded for cvery correct answer. There are no negative marks.

585 08 Tl wf 378y Biranosdo Ethihdod. JSod Hrrd)s Sréyw TI.

5. Immediately on opening the Question Paper Booklet by tearing off the paper seal, please check

for (i) The same booklet code (A/B/C/D) on each page, (ii) Serial Number of the questions
(1-100), (iii) The number of pages and (iv) Correct Printing. In casc of any defect, please report to
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L0 Ldousb zTeodgos F00D& 2T BELG0 B8 sof efided Lo $S'Rod aorung,
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Time : 3 Hours Marks : 100
Instructinns .

(1)

(if)

One mark will be awarded for cvery correct answer. There are no negative marks.
S35 (86 arwoss af Srdy Sraposto akHE08. JmSed Gedy Sryw I
Choose the correct or most appropriate answer from the given options to the following

questions and darken, with Blue/Black Ball Point Pen the corresponding digit (1), (2), 3)
or (4) in the circle pertaining to the question number concerned in the OMR Answer Sheet,

Separately provided to you.

BIHS aDS B8 BH AI@ES TES* BOWI JBrEIH0 AiEH T B0
©o3 (1), (2), B) B& (4) 3o anys OMR 35red HFEnS® EHH Sowofods
Somgie S5yamR) dwo Br Sl wrd ool DY GBRFAOD VBT,

A and B are partners in a business. A invests Rs. 12,000 and B invests Rs. 20,000. Out ofa
total profit of Rs. 9,600, A receives 10% of the profit for managing the business and the rest
of the profitis divided in the ratio of their capitals. Then A’s share of amount (in rupees) in the
total profit is | q‘ﬁf”r‘f
e¥ ?5&506“ A 358050 B e arfargsooen. A Dind 12,000 &miex0 5080520 B_zbé.).?maaé
20,000 &ruen. 3ndgo oo 9,600 Srioest, T°garonR) 329 Sod oo erzfoes®
10 7Ry A Sosm 2005 TAD 0 Digade IHJS' SoHTT. edydd Mg

erfos® A &od Jrr (Srarode) = Yoo = 3¢e0 446 .
2
(1) 5,400 K2y 4,200 N ¢P-qde0
= 4 eee
(3) 3,240 (4) 4,500 — _ ‘e (360
— (o000 T
3Ceo0

[f a side and one of the diagonals of a rhombus are respectively 5 cmand 8 cm, thenthecarca  qq,
in sq.cm) of the thombus is .

(in sq.cm) = ) aEEL)
L& HHSSEnz0 BnE), wl Dudn 0w &8 DEYS0 Sdodne 5 200.20. 08a30

8 220.20. wowd, ééadéadaaaao B8, ITog0 (Sirondy. oe*)

(1) 20 A7) 24 | Wa
14€o

(3) 36 4) 48 a—_
A\ 3 MCT B 36\16
i :
A S se DR
C“"ri‘/ ‘._EE_TIA ‘ .
-4 7 54 r
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3. Theshape of a park is as shown in the figure below,
oK CJG‘S::):J;.,JU, et L{;Qd Sbroes? s Erdodt Goub.
20 4
4
l 5
4
20 4
If the shaded portion represents the area covered with grass, then the arca (in square units)
uncovered with grass is '
wb BohwddS o, AGE E5wAS FTegedd Lrdh, wivd AGS° E5mad Frdn
Ry, 3Togo (S86H chrdbrs®)
(1) 212 )_x02 - - (3) 198 (4) 52
4. A window is in the shape of a square surmounted by an equilateral triangle such that their
vertices coincide. If the perimeter of the window is 6 m, then the area of the window in
square meters is
2§ 888 w5 do, SHEBIND Q630 ©8 Hudn FéHhe wf dlordo B8 e.:é;:m
& Bodoldd 28Smen .Déeﬁ:)oéaa’:bam %o0S ErB0S® Gob. 8838 &g B85 6 Joue
SE6H f.béage?‘ o 8838 @y, 3Togo
(1) 1.43 (2) 2.06 (}/)/2.68 (4) 2.88
5.

A cube is built using 216 cubic blocks of side one unit without any gap in between. A fter

it 1s built, one unit cubic block is removed from every comner of the cube. The surface
area (in sq. units) of the resultant structure after their removal is

w8 ohrdl ghudnm do 216 LIrsdy 83ed’ HE5S° hw Bor wf Lood
QBT . Jopdn S6hTE DISn @NE, B8 Sro K0d 2§ el Lardd
B3 Solomd. TUI Fohodd dhad 26)aS Qo200 Qg &880 3Tego
(5. G’

(1) 192 ©(2) 180 3y 216 4) 196

If the measurements of a brick are 25 cm x 11.25 cm x 6 cm, then the number of bricks
needed to build a wall of 8 meters x 6 meters x 22.5 centimeter is

2.8 atng BwE), Fodw 25 0., x 11.25 0.5, x 6 0.0, sond, 8 M. x 65, x
22.5 wo.n.en Foden KOAS w8 Add QB oET 8 sdoad atuio Jopg
(1) 5600  (2) 6000 (3) 6,400 (4) 7,200

TV w0

——
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7. Ifahemisphere, a cone and a cylinder have equal bases and cqual volumes, then the ratio of
the heights of the cylinder and the cone is

S csg’ﬁ‘c’;in, o8 Foans) 0% ¥ :;,gézﬁw 258 SErdsneny 38050 HSrS P08
;35-'_135‘@*&» §OR ¢od, JBSn D0k Fogwd) SR R\
A 1:27 (2) 11 (3) 2:3 (4) 1:3

) y . . . . "
8. A circular sheet of radius r is divided into four equal sectors and one sector is removed. It

3

3

th
1s then folded to form a cone such that the perimeter of the base of the cone is [ZJ of

" the perimeter of the given circular sheet. Then the ratio of the slant height and base radius
of that cone is ‘

r é‘gé'gow fo o8 HTHEY) Bitndo arenid JdSrS NFlm JaRo, wE E )
Sofomd. AOS ) 28 FoH)m T Ry, ErhinFod, 5Tms sy Sadn GBF),

SotnFosst % 5 Sodks BEFEEOM GoBbiy HETE. vl DABS fokP SN

Dhimen Jdy S0 dragrdive G
(1,)/4:3 2) 1:4 (3) 2:3 (4) 2:5

9 The number of common solutions of 4x + 7y <5 and 2x + % y28is

%

’ \‘4x+ Ty <5 S0Bai® 2x+%y28 ok fo ¢Snd FESe Jong

Y1) P 2 12 370 4) 1

10. If(x,y,2) = (0, B, 7) is the solution of the simultaneous linear equations 3x + 4y + 5z = =2,
2x+7y+z=landx+y+z=0,then (a-%ﬁ +[ﬂ+]’ -
& o
3x+4y+52=-2,2x+Ty+z=1500050 x+y+z=0 o3 H05°08 DEIrd JDESeT 0l

(X,_)’, z)=(a, ﬁ: 7) Aty @O.Dé, Q—Dﬁj’dﬁ (a+ﬁ]+(ﬂ+},)=
7. 74

ya/ 0 @) -1 (3) -2 4) 2
LR s.c |
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Between 8 O’clock and 9 O’clock, when the times at which the minutes and hour hands be
at 72° with each other arc 8 hours 7, min. and 8 hours ¢, min., then 7, + /5 =

8 foben BB 9 Hobe H¢g, AWTL Jwen Kbk Kobw VWD LETIS L

72° 0 S'm0o o docsren 8 fobw f; AT w0 $0ckn § Hobie 1, AT BoNITYE
ty+1y=
i3

1"
74 960 g ok,
i @
8 = “ ){K"\" 3089
748 _ 25
G T e 9= N‘“’a
11 _ 11 .
| . %% " ’A
\ &
12. Thetimebetween 2 O’clock and3 O’clock at which the hands of the clock are 1n a‘iralght
linc but in opposite directions is s 61
. L. Y
(1) 2h 43Hm1n. (2) 2h 42—7—min. ))4(\ -3
(3) 2h 43-L min (4) 2h 422 min T ’: mauo
o QBT L T

2 Kobreo Hdasw 3 Kobe 308y KA ED Snenen o8 J8FS* Godar, 553@5‘56‘\///‘
GG HHockho B £ 2

9 7
( M Ko. 43— d. (2) 2 Ko. 42— .

11 11

2s—

7 9
(3) 2 Ho. 43— Q. (4) 2 Ho. 42= Q.

11 11 330

13.

If the number of times the hands of a clock coincide from 6 am of 5™ August 2021 to 6 am
of 7™ August 2021 is n, then n =

2021 esKdy 55 86 8o 6fobiw Kool 2021 eidy 75 B8 GBS0 6 KobroSE5s o.¥
K&0Sr80G* Sothdwenes n NS A8FI T, wdydo n =

(1) 11 ) 22

(3) 33 | A7) 44

(T EIE -
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14. The average weight of 45 students in a class is 52 kg. Five of them whose average weight is
48 kg left the class and another 5 students whose average w cight is 54 kg joined the class.
Then the average weight (in kg) of the present students of the class is
2§ SERBE'D 45 008 DTghe Hiitn vl 52 32 TOS' 48 $do diks whd Ao
SKots @ S6KBR SED I, 548de sk whY o B Sk dmghes 5 ¢
S8K8S* Bordh. PEo & ééﬁ@aﬁ" &) dTgieo A0 2605 (52ees)
(1) 521 (2) 532 (3)- 522 (4) 531
3 3 3 3
15. Ifa+b=1anda®+b*=2,thena®+b°=
a+b=1%5850 a®+b? =2 eond, edyk @+ b=
21 19 | 5
1y = Q =2 /};g/ffz s 3
) 4 ‘ 4 4 * 2
16. Forany non-zero value of x,
o, 1 " 1
1+x% +x° 1+x2+x72 l-i-x_2+x"4
x Qg D 3586 DenIET,
1 . 1 M ] _
T+ ixt 142 4x2 1+x 7242
(1) "0 2) 1 */;37”If;x2+ax4 © 4 X
4 i 2 5
17. If o4 =x,1’3 ;3 =y and z=,/x+y,then 4(z2+3)=

f 7 f 2 . 5
+3 3°+3 ;’3;60‘5.33 Z‘—-\Xl}lwa, @éjé-) 4(22 +3) -
/ 576 4) 108

(1) 100

W .C
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=2 -2 |
3125\ 5 ry - i
If( x ) -{2‘3]5 ) 342(64)5,111cn X+
(3125 = 243 = ] 2, \72
3 34 5 ¢ x“ +1
- = (64)” wond, whves | - =

\

| | | N
() 25 M e 5 @) 5

19. When a positive mtcgerkls added to 3096 if the resulting number is divisible by 39, then
the least value of that % is
3096§ 28 $3rgzogo kD 908 53) DO Somg 39 B erhodwdd, LAy © kAng
é&)g QNN
1) 15 @) 18 3) 21 M'
20. Ifrisarational number whose denominator exceeds its numerator by 3 and if 5 is subtracted
2
from both the numerator and th_e denominator it becomes 3 then r =
2.8 88805 Qdopg r SR TFEJ0 T 0350 K08 3 QEY ST 08 b & 260.-:_35
' 2
By, odSr, TEIN0 Bodod Hod 5 JAHT ©b 3 wYod. vdyk r=
14 —v= g 3 20-v WS 17— 6=s2Y l— = &>
—_—— — 2 = o — —_ = s -~ L
7 () 17-5 \Xx 2) 23 5 WAL (3) 20 = Ty~ w/L
1 -
71. If7=0.142857,thcn 0.00007

1 0.142857 wond, vy

7
(1) 14.2857 (9/142-857 (3) 142857 (4) 14285.7

0.00007

T s
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9 . : a6 )
_If r is the rational number which is the reciprocal of the sum of the reciprocals of the

4 5
numbers — and —, then the digit in the fourth decimal place in the decimal form of r 1s

8

e ) 4 5
CESSoh Howg I €I, Topged 3 So8050 i S5, Sro Ando @Y, @5@&5353@3
<

—

TP 1 QAW S7od Erdod’ TS STy G o0 ©o3
1 3 @ s 6(:/ (4) 8

-

23. If the natural numbers a, b, ¢ and d, in the decimal system are given by a = xXX3%4 >

b= x,x3%5x7, €= X1X2X3 and d = x3x,x wherex; =X+ 1,i=1,2,3,then the H.C.F. of

b— 1
9a and g

“ons
PORg

1S

Sopgen 4, b, ¢ 58030 d o, STodSrS0s® a=xXX3x,, b=X4X3%2%1>
. . b—a
m @ey $odaso 5K)é‘xi+1=xi+l,z=1,2,3eaw3, 5

(&

€ = X|Xo X3 $00050 d = X3XX)

d-c

S8 i o K.l
,x)/ 1 (2) 11 (3) 22 4) 33

b2 —30a—20b+325=0, then the GC.D. (a, b) =

24. If a and b are integers such that a*+
o bes @b +b2—30a-20b+325=0 gy 0B, eyl AF (a,b) =

JTos
M @) 10 3) 15 " (4) 20

1 the sum of those two numbers 1S

75 Ifthe L.C.M. of two integers both greater than 11s 1517, the
K. 1517 wond, wdjd & Boddd Bomge Jngo

1 8o "}3%5?_:6 Todd Y05 ..
58 ‘ (2) 68 (3) 78 (4) 88
’ \
2:3. If 5x ='4y,1hen 2y:3x=
37‘} wond, wdydd 2y:3x =
15:8 (2) 6:5 3) 3:4 506

N -
':J‘Esl B (S Y
3:5 S‘ ’c

TN o Se=
HII.IMI.IIIILII“ Dllll[.lll.llll | 9-C e 305230y
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is 144. Then the sum of those

27. The L.C.M. of three numbers which are in the ratio3 : 4 : 6
three numbers 1s

314160536 &8 S Somge S, 144, wibydy e Sardd HoP§O 0o
(1) 144 (2) 156 (3) 164 (4) 288

28. The ratio of carnings of A, B, C is 8:9:5. If the carnings of A is increased by 50%, the
camings of B is decreased by 25% and the carnings of C is increased by 30.%, thc':n the tglal
camings of A, B, C becomes Rs. 28,052.75. Now the increasc in A’s earnings (in Rs.) is

A, B, C o Soddse diy8 8:9:5. A &ng), dords 50% won, B @Bg), DoFES 25%
8 Sobasn C ag) Bords 30% 200ASH M, A, B, Co 3ndo Bords 8. 28,052.75

wond, VI A JoFEISt Do (ErIos’)
(1) LI 9/2,222 (3) 3,333 (4) 4,444

29. A company designed 100 triangle shaped metal sheets of the same size in orange, white,
yellow colors respectively in the ratio 2:3:5. The sides of each triangle are in the ratio
3:4:5 and each of its perimeter is 48 units. If the costs of orange sheet, white sheet and
yellow sheet are Rs. 5, Rs. 2.50 and Rs. 4 per sq. unit respectively, then the total cost
(in Rs.) of all sheets is

28 o 28 ewrd’d 100 @harsdl)) ST %o, wdod, Bend), DY Sohod®
S&3m 2:3:5 G S° ErdgeyS Dod. PO (Bbasn By, Hres 3:4:5 8’
aen 005 BT iy Fod 48 chrdiym Go8. 6ok, Bend, S0 dorbd
B pBE, g $5.00rAEK, KM &> 5, &r. 2.50, & 4 wond @) e &),
3o b (Sne>es®)

(1) 63000 (2) 36,000 (3) 12,000 (4) 21,000

30. In a college the ratio of boys and girls is m : n. If 35% of boys and 45% of girls got
scholarships, then the percentage of students who did not get the scholarships is

2 502S® rendd, Trdfo QA8 m:in. T0* 35% erendd, 45% rdfen GISEISIS0

Fobd, GHsdddlio Fodd dogle TEo y
13m+11n 5(11m+13n) = e goo)ﬂ:;-r
(1) = _ (2) — g =9 =\ qot % !
5(l3m+11n) _—— o C -yt = ya. Voot P dabe
(Zy m+n ) m+n ! t{;u quptrs Xl
‘ GG i Ay
| ugq ‘lff,{ AT %ls-‘uc':LL .
IV e e L NSNS
- i o Q)
' | %\C) ‘L‘;—F ‘?F‘,
- rv\< ‘;‘4
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31, Ifx9% of 670 is less than 17% of 770 by 17, then x =
670 &* x % D203 770 S* 17% %08 17 689,35 wond, widydd x =

() 17 (2)-23 (3) 15 (4) 16
32.  Raja’s salary was reduced by 20%. Then to get back his original salary the percentage increase

on the reduced salary, is

e Ao 20% SROBBEB. ©ED i ddo G0N FoSEIS, ENoDS déo P VoIS

- et .
Tdo e
(1) 20 () 15 (3) 18 @2 W
§o
ol

33. 20% profit is earned by sclling a T.V. at 10% discount on the marked price of Rs. 50,000. %‘?\_’“

If discount is not allowed, then the profit percentage is .
b, 50,000 & GEES S5 €ORS 2§ B.0.5 10% ddyotns wingo mso 20% orgo

P - -
Sod. c"m?!oé.w.‘éo ad¢soon Go8 $T) erdTdo
USRI

©

1 ~ ' 4 T
/(3/33.5 Gawmras @ 25 S 8 e
(3) 28— (S gt ¥ @) 27 R SR =l I 8
10 -Tg-;rq) yro QO 4 ﬁ)‘:‘waa - 1911\)5";‘- 9-.
34. X purchases an article for Rs. 2,000 and sells it to Y at 25% gairg & sells it to Z at p% gain ‘T"ﬂ.
and Z sells it to T at 20% loss. If T pays Rs. 2,100, then p = ,%_“ 3 =
N8 Z

X 2.8 5399 2,000 Srarcheds 5, 25%. e2rJ8 Y § @:»&n‘, Y oo p% erer
5o @a:gé, Z & 20% $:xd8 T8 QT . T 390038 &> 2,100 ®o08, wdydo p =
(1) 11 (2) 8 3) 10 “4) 5

35 A mixture of 20 kgs of powder of two varieties A and B contains 10% of the variety B. The

amount of the powder of variety B (inkgs.) to be added so that the new mixture has 25% of

variety B is
A 508050 B w3 Both 85 rdiod 5005 20 850 DEFSod’ BEgodrd 10780 &ob.

A28 B GEo>rad Jod HbIrw0 €908 54 doFos® B 8o 25 780 0hdob, &

105700 (B r.od) ..

(1) 1 : (2) 2 9}/3 (4) 4 gwm.
IR nve—5e e A= v b
\0 . o
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36. Two solutions of 90% and 97% purity arc mixed to make 21 litres Ofll?iXtUTC with 949,
purity. The quantity (in litres) of the 97% purity solution in the mixturc 1s

90%, 97% SgE)S KOAS Doty @ScTof 58D 94% Sef)d Ko 21 OLF VED @ Swo
dolird I, & F0S* 97% Bgf)s Ko (GSo $6Srwo (HLES)
(1) s C(2) 7 3y 9 (4) 12

37. Avessel contains a mixture of two liquids L, and L, in the ratio 11 : 8. If9.51tr. ofrpixturc
is taken away from it and it is replaced by the same quantity of liquid L,, then theratio of L,

Ly ‘Lj_ '~ and L, becomes 11 : 12. Now the quantity of L, (in litres) in the final mixture is
WSk st e L, Sbaks L, o Got e ot 26 48 1118, o2 od

@ 9.5 088 DFSrQ) SJID ©@od HdSreone L, (8S0s® #5§ 3% odyd L) &odsw L, ©

M VG 111 12 0H&0b. 0y ©odd DFHos' L, H8drwo (O8e”)

wey (1) 435 (2)—34.5 (3) 36.5 (4) 28.5
Q.-T““V . . . ) ) . . . . .
v~ 38. PipeAcanfill atank with chemical X in 30 minutes, Pipe B with chemical Y in 20 minutes,
a8 2 and Pipe C with chemical Z in 10 minutes. If all the three pipes are opened at the same time
se3e until the empty tank is full, then the ratio of the chefnicals in the filled tank is

28 irgofoio A od 1D Srahse X & 30 diostsr, B oI 2RI Eradso Y &

G.: %Sz)uoé‘;ﬁy, C o3 29 sraDso Z&% 10 c‘()uo"eSf:SJ' QodK0Y). 28 JcHoes & Jard
“—\"“t:;’ 3&’@05&3 9 é.rso§o AoB 8% 86D &odd, oo &) ¥ rgoBs Srchae
Bt =% 2\a - | |
Qar=e 1’3“)“3:2:1 (2236 (3) 1:2:4 (4) 3:4:5

39. Apipe B fills an empty tank 5 hours faster than the pipe A and 4 hours slower than the pipe
LTS » C.Ifthe time taken by the pipes A and B together to fill the empty tank is equal to the time

3o |ts|2 tzkenbythepipe Ctofillthe empty tank, then the time (in hrs.) taken by the pipes A and C
e ¢ together to fill the empty tank is

a8 Soran Bag 9@ trgod, Soeman A o8 5 Kobren Swodmss Sobaky ot
C 508 4 fobren sodgomsd Jodiod. Sovraned A,B e Bodr £O°% s o drgoSHd
oD HH0cHB, Co8) B © 7 trgokdd doh HSrasrds RIrId, ©wBydd Lo
A %8050 C oo Bodr 58D & 3@ &rgokod dodards 58 %000 (Konws)

L1 3 1

ST 2.c
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;\chn f‘“iS]“ a ‘_“Sk m 33‘: dﬁ“.\’s \:'Orking alone 12 hours a day. B can finish the same task in
| and A | im after two days. If B works for 18 hours a day and A

works for 12 ?m_urs a fia}'. then the ratio of the parts of the work done by A and B after 7 days

from the begining of the work is

Ao a o8 52 S 12 Sodbe TEYS B 25 S'wed® o Schiod. Bag)d o8

3 folsw STV TR 50 S'aves® o Schiud. A $H0ci» B & 230 o

SoT8 dokoSaFED. B v 300 SwdennidS 2 freo SHhad A oddd B8

& =% 18 Soboe TS Soocsw A &% 12 Kove RS D 3R, dAQ
S 78 we SRS A Sobcin Boo 308 30 e dg
1 (2) 20:21 (3) 18:23 (4) 22:25

2
o
g,
i

’g‘
)
-

41.

If S men can build a wall in 20 days, 8 women can build the same wall in 25 days and
10 boys can build the same wall in 30 days, then the time (in days) taken by a team of 2 men,
6 women and 5 boys to build the same wall is

5658 Hoden o8 AED 20 Srrostir, od AEd 8 J00d ng 25 SarerdstSor oW
10 2008 e 8 AdS 30 SrosSr baéodﬁé)ﬁé, agd Hohden, 6Hd @‘Em
3Bk 5K mrendd fo wf 2in ©d FES J0PSTRE 58 seo (Saros)

(1) 20 M (3) 12 (4) 15

If 17 persons in 17 hours can paint 17 identical rooms of size S, then the time (in hrs) taken
by 150 persons to paint 150 identical rooms of size S at the same rate 1S

17 008 Sgken 17 fobod® pa S & J&3SrSomrdd) 17 ddos Soio ScrOAs,.
150 $o08 ©3 Bind 2050 Sghwo S e KOAS 150 JERHIrIDS Acbess dord

e

A8 éajswo (Kobreres®)

~ 150 17°
(1) 150 17 3 77 @ o7

Three persons P,Qand R individually can complete a work in 20, 15 and 12 daysrespectively.
Q and R started the work and left it after third day. The number of days required for P to

complete the remaining work is
Sl Sgkes B, Q 00c%0 R e o8 230 2824m S8 20, 15 Sobasn 12 &St

46 Bobhed. QR e 230 (Fofod Surds Sare Sogd TR 380 IV st

A0S 299 P 4o Sohirdl esidlidhy Sere Sowpg

1 14 o (3) 9 ) 8

p=2t¢ a

a0 Kok »
T T P Y-

p:n—- 5‘

r 5
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A train takes 25 seconds to cross a platform by travelling with a speed of 54 km/hr. Running
at the same speed, it takes 14 seconds to completely pass a man running at 9 km/hr in the

same direction of the train. Then the lengths of train and platform arc respectively
(In meters)

44,

Kob% 54 8.2, IK08* Hasredodd 250008 08 riEPSd Toa IS 25 2ESw0 S dos,
o8 JKod® FSH o TS, Kok 9 8.2, IKos wd BFS' HOAKDN) w8 DALY
oM TLmE, 14 DESen Bdood. iy  Buo H06N FEIO FdHe
SEHJT (Doeages®)

(1) 210, 140 (2) 175, 200 (3) 245, 130 y/HS, 375

45: A person travelled 12 km at a certain initial speed and then travelled 6 km at a speed

> kmph faster than the initial speed. Had he travelled the entire distance at the increased

speed, the time taken by him would have been 20 minutes less. Then the time (in hours)
taken to travel the entire distance with initial speed is

28§ 358 Fod @80z Jrfos 12 8o Hoirdodd SShard, @rodf Iosod Kobads
% 8.50. 289,35 3K0&" 6 8.2, PBoSrBoardy. ¢ Indo Eromd) VoS KoY Hairdod

¢ 08, @38 20 dien $¥ S SSrcdo é%ﬁoa& wdydd |FrSod IK08*I Ingo Erod)
Bosrdosads 2fswo (Kobeod!)

(1) 4—;- (2)/% (3) 5% (4) 3.5

46. Same amount of money is given to A and B at the same time. After three years, A paid it back
with a simple interest of 10% and B paid it back with an interest of 10% compounded
annually. If the difference of amounts paid by them is Rs. 46.50, then the amount (in rupees)
given to cach of them initially is

28 H¥0cR0st DErSR B30y A 50050 B ok ondgwdoed. Sard Roddoe §HTd
10% =&388* wdby 30 A Dbk FOF 10% SEsbst ey Awa) B odd ‘9}’(
BOoT &, b pled BQOD.‘S 3ndo T3 Z80 46.50 Sriwond, 08 269,568 @-do:ﬁoeﬁ‘ 1 6(5

(1Y’ 1,250 (2) 2,000 (3) 1850 (@) 1,500 2
1 Tl : b= *1%34—\%; _:@“m,_?gg
WO e SETRRQTAR
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47. r"\ person X borrowed some money for simple interest at the rate of 6% per annum for the
first three years, 9% per annum for the next five years and 13% per annum for the period
beyond cight years. If the total interest paid by X at the end of cleventh year is Rs. 8,160,
the money borrowed by X (in rupees) is
Ned o8 558 Fod i STdm S48, Tnds Srdd Soddoresd Dt 6% SEOLn&' S,
SHIE wondd Solddoot A 9% :3%?3&.1)&‘?6:‘ L0000 A JoId)orw SS000
SR8 Qb 13% S§0nd'Ser wdym SoFad. SEF08S Poddrodos* X BYodd
Ado 3§ & 8,160 o0 wand, X wiym SWEE) oy (S cocs’)

(1) /w«.ooo (2) 7,000 (3) 8,000 (4) 9,560
=

48. Ff the simple interest on Rs. 1,750 for 3 years at 8% per annum is half of the compound
interest on Rs. 4,000 for 2 years at x% per annum compounded annually, then x =
QT 88 E‘Z’Q__:rdaéééf‘ Sardd doSdyorese 1,750 Srnon wdby 58, A x% & FOoI
SESER KHe3oDILyE ok JoSHTr o 4,000 &rno &96305??6‘ Hifo @oxnd, wdydd

=
1
(1) 11 (2) 10 (3y10 4) 12

49. A sum of Rs. 1,600 is taken on compound interest at 20% per annum for two years. The
difference amount (in Rs.) between the interests calculated on annually compounding basis

and on half-yearly compounding basis is
20% Bo38)08 Bind® &r. 1,600 © S0y SE54D Boks JosEorots ERNTTH.

542 HoSHTITEFD BE0BMST) 588, B8 ©f LoIGHTISTEFD B oumST) S48
Soghe Sgergdo &S0y, (Br2raSes) :

(1) 742.56 2) 336 (3)38.56 % 236.48

50. Aand B entered into a partnership with capitals in the ratio 4 : 5. After 3 months, A withdraws

1
: of his capital and B withdraws 5 of his capital. After 7 months from then, they shared

the profit among themselves. If A’s share of profit is Rs. 330, then the total profit

(in rupees) they have carned for ten months is
4 : 5 dXBS o SrodTos A 050 B oo of eridrghrgd) sdodomrd. S

1
2o OIS A 08 Socredso Sod n 5 S0, B @dd roddo Hod % =

Sodody 358 ERETHE. o583 o8 7 Ive S0, T8 orerd) Hoosoa&.

A = ergio 330 Ernen. eond, 10300 5o T $oFrs0dd Ao orgo (Srdrahd?)
(1) 800 Q750 (3) 760 (4) 740
T e Inlr  1e sy g
A'—-q'm::v"‘_:r " =Ca=Ne s jhe 100
L %3 =\5?‘w:§*3?<'+ - iG_‘jr g raggsf;_m
=
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[n cach of the questions from 51 to 57, a question is followed by two statements [and II. Give
yOur answer as

(1), 1f the statement I alone can give the answer to the question;
(2), 1f the statement I alone can give the answer to the question;
(3). if statements I and I together only can give the answer to the question;

(4), if statements I and II together are also not sufficient to answer the question and additional
information is needed.

51 %008 57 58% o @8 HHSEr, wf (O Sos Btk BISTed I, Il asgpdaon.
B3550 18T & @§H% d5rorssnds asiond (1) od;

3330 11 &3 © P S8rers0scKons (2) od;

©3580 I, Il 0% Bo&oid S8 eBd o BHH dSrmsdosgionsd (3) «;

@380 L 11 oo Bodr 808 T), Ro508 drardinod &), & HHK 23720 3(B QT8R
(4) ©Q; B JBSrFrSSom 1s0d.

51. Is the perimeter of the rectangle more than 65 cm?
(I)  Its length 1s less than 16 cm.
(II) Its breadth is greater than 10 cm.

& B 3EEHED zﬁ)&:&)?@é@ 0B wpEST?

7 (D) od >8H 16 0.2 L0B &5 3.
() o Bdeny 10 0.0 0B I8y,S.
52. Ish>a?

() x+3isa factor of x0 - 27°
(II) x-2isa factor of X2 - 44"

7 b>aeHdon?
(I x® - 27bo"30352’ 2.8 s*8emo8S0 x + 3
(A1) £ -4’ g, of SEToESD x =2 .

I e

= _ et
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53, How many Sundays are there in that year?
(1) February has 29 days in that year. Qaelon!
(I The year starts on Saturday.
U RoSEins'y edIT g A)?
2 (1) & SoSd¥sins' DSt Jov 29 ol OA Gob.
(I) & So3dBin ATEoE InEBLH.

—_——

Booklet Code C

54, Ifxg+x, 4,4 .. +x9=Sandxy =3, then whatis the valuc of S?

Xo+X) 4 Xyt Xy = S 38050 xp = 3 wond, edydy S BE), Jeod Jod?

() x,=5¢,_ forn=1,2,.,10
) x,>0forn=1,2,..,10

55. Is AABCright-angled?
AABC vons'n 802357

M [A=2[B
\r p)
a [B=3IC

56. Is a% of bequal to 5% of 1?

b &0, a%, 1Y, %8 SEr3Sr?
(I) a+b=s+t

() ab#st

57. What is the integer value of m?

m cﬁ::éz, ?.’J'q;oé dend Jdod?

s
(D 7 24+m 2

(1) m> +24=10m

EE———————

AR 7
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In cach of the questions 58 to 60, there are two statements labelled as Assertion (A) and Reason
(R). Choose your answer as

(1), 1f both (A) and (R) are true and (R) is the correct explanation of (A);
(2), if both (A) and (R) are true but (R) is not the correct explanation of (A);

(3), if (A) 1s true but (R) is false;

(4), 1f (A) 1s false but (R) is true.

58508 60565 fo PHoS* AEEc0 (A), 5620 (R) w3 Bods BSITOTHH. 8 SEFT Tl
(A), (R) @0 Boder J8g0hdr, (A) S, $6&0S D56 (R) woxd (1) v

(A, (R) o0 Bodr 2855098, (A) Gof), H0G1S IS6w (R) 57508 (2) “‘b

(A) 2853, 52 (R) ©d8g0 wowd (3) v

(A) 83850, 5°Q (R) 3850 wond (4) ©d; JobE Bckod.

58. Assertion (A) : Inurban areas, smog episodes occur frequently in winter.

Reason (R): A lot of biomass is burnt in winter by people for heating purpose or to
keep themselves warm.

APSEII0 (A): 3L | FTrodSnes* M S0 SoJbles SESm esoldns®
' LoFdTomn.
580 (R) : 1o odns’ Bao, 38 Dok 38 B T08 IHET) Lo BcHaIB
Qo&' KD &5 Sorgde (biomass) & sTendde.

59. Assertion (A): The radius of a sphere is 3 cm. If the radius and height of a cylinder are

3 cm and 4 cmrespectively, then the volume of the cylinder and that of the
sphere are not the same.

Reason (R):  The volume of a sphere is equal to that of a cylinder when the radius of
that cylinder is same as that of the sphere and the radius of the cylinder is
3:h

2 of its height.

DFEES0 (A) 128 fi'do R, TgPrgo 3 Do.. w8 Bpdo @), Tgrgsn Sobei»
‘ e 363m 3 wo.d 08cs» 4 Noha ©wond, Sydsin So8csn

Aédne Gng), HIL0Srmrer ddrdomr Godd.

séwo (R): 28 3o &ng), Tgrdo, 28 Ado @), Tgrods S5-d, Anso

/ B, FTgTgo T QS -3-;5 Sodd eond .’:.:(;f:o B8, WIB8Srewo,

A¢o @), DIBBIrerds SdrSo.

LT 18
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60. Assertion (A): The sum of all internal angles in a regular hexagon is 720°.

Reason (R):  The sum of all internal angles of a regular polygon is @—%)—ﬂ-
DYSS5E0 (A) 1of ¥ Adne Ao wodd Seare Iudo 720°
Y -
s*8e0o (R): a8 B advghes AwE), wodd oo Sogo M
: 2

Directions for the questions from 61 to 65:
Three of the following four given options are alike in a certain way and form a group. Identify the

one that does not fit with this group and write it as your answer.
61 Sood 65 S8& Ko PHOH IS

BG5S Al T oTes’ Swd, a8 IgY IFENS" 2.8 S8R E)Eeren. &
23T 008t H0HED ST adEd m&gééwéo K800 T N 2T Q:5c08.

6l. :
()30 @2) 15 3) 21. 4) 36
62.
(1) Guava (2) Watermelon  (3) Papaya (4) Apple
(1) 2y Tf s (3) 5D (4) @b
63. :
(1) 3,5,34 (2) 57,74 (3) 7,11, 160 M, 13, 290
64.
(1) (11,60, 61) (2) (5,12,13) (3) (7,24,25) 7 (9, 40, 43)
65.
(1) N, 19) @), (X,25) (3) (S,19) 4) @ 16)

th to Anil and is in North direction to Amal. Amal is standing in
Sunil is standing in South direction to Vishal. Vishal is in East
h is in West direction to Vishal and standing immediately after
n Kapil is with respect to Anil?

(1) '§outh-East (2) North-West (3) West (4) South-West
255, waEE GEmomdd S8 058 GE0BTS S dond GIm. PVEE HEEHIS’
S pond eI, S8 GEpBIS S dond Gand. 8ads dry 87S° TS

w5 SSB0ld BEIG BIS' 98T dund GHLwd, ey IS Sdom

66. Nitish is standing in Sou
West direction to Sunil.
direction to Kapil. If Nitis
him, then in which directio

N
gné O bIS eT?
(1) ehobo (3 Tesnago (3) 2d08 (4) S8

i
TG 19.C
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67. Starting from her house Neelima walks 15 meters to her West. Then she walks 15 meters
to her right followed by 10 meters to her right to reach the post office. From the post
office she walked 12 meters to her left followed by 32 meters to her right. Then, the

direction from her destination to her house and the shortest distance from hier destinztion
to the post office are

(1) North-East, 4473 m (2) North-West, 20 m

(3) South-West, 44/73 m (4) South-East,20m

208 Dod 2AHWTBS VO SRk BEHE BIS* 15 Dbl SEDIL. LT E v &7

Sb @5 15 ooy 38D, s 08 &5 08 B§ S 10 Db $2D ST st

BBod. ddrer @i:éa 5008 35 8D BPHL s3> 12 e c;g ::»3,;5 sl g, 85 &4

B 32 Doy $aD0b. BEyE w Ay o &od ©I med IHIL Mo =3

S0Boin e Adog 535260 008 S>er esdHS% fio 88 &rdo i

(W &asg0, 4473 %o, £ FasnSgo, 20 o, ],
S

(3) 3%8, 473 . (4) ehycko, 20 .

In a certain code, the n'™ letter (n # 15) of the English alphabet is coded as r* 2 letter of it, where
r1s the remainder when 5r + 3 is divided by 26. (For instance, the 7% letter G is coded as L since

5.7 + 3 = 38 leaves remainder 12 when divided by 26 and L is the twelth letter). If n = 13, 12ke

r = 26. The inverse process is used to decoding. Based on this, answer the questions numbere
68 to 72.

2.8 APAEES” wodf wibSros'd nd @éc‘&l (n# 15) rs sgdomr §'6 Bk, a8.8 reis,
Sn+3 263 grhodm 3Ty 320 (&TTC0ss, 75 @éd—q—é__aaﬁl..r—‘ &
57+3 =383 263 zriodm 53‘) 3230 12 oS80 SHBaso 12 3 «E8o
wond, (r = 26 T 820508, & IS'D JEED A5'B0R8 &ARTAoT . 83 usdor 68 X:cd

72 586 o BHos 2700 ascod.

A&~
68. The code for VICTORY is w |
VICTORY & §'6 5
(1) IVRZYOX (2) IVRYZOX e
(3} TVRYOZX (4) IVRYZXO
S o3y
A 20-C
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69. The code for POLICE is

POLICE & §'6
(1) EZKVRB (2) EZKRVB
_(3)-EZKBVR (4) EZKRBV

70. The one which is coded as YOUTH among the following options is
808 ;313‘)5"06‘ YOUTH m §'& 520856

(I) TRNAS
(3)XZDYQ

(2) TRANS
(4) TRNSA

71. If the code of a letter is its immediate succeeding letter in the alphabet, then the pair of
such letters is

2§ oo @, §6, v8Srod” o 35Dobrd ST IT) wEdo wond, wirod

wioce =8
(1) LM (2) EXK
mP (4) S,F

72. The number of letters which are coded as their immediate preceediﬁg letters, is

o8, EE0 $00608) @éoﬂ‘()ol, o°d §'&m $9AS esgc':en Dopg

) 0 @ 1 2 4) 3

R, S and T in a family with three generations. There are two
ther-in-law of P; Q is not married to R; S is married to
f the male members to the female members of the

73. There are 5 persons P, Q,

~ married couples in them. Ris themo

T and T is the son of Q. Then the ratio 0
family is

Sordodre S8ens) 2§ Sotnonod® 5 Sgen P, Q, R, S, T &), T0e° Bodd

DErd 20enTo. P &n¥), egdmd R; R& Q& oo 5786 T8 S & dardrdood

S06050 Q G0E), Sodr&ady T. @éjé.) es si:eaaoaaée;’ugoeﬁ" 208708, estiar08 ;’)Jdg(ﬁo
2538 PG e LT

(1) 2:3 @y 3:2 Y-z ‘
(3) 1:4 4) 4:1 F'—-°

I QY \ )
e me 3
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(1) EZKVRB (2) EZKRVB
_(3EZKBVR (4) EZKRBV
70. The one whichiscoded as YOUTH among the following options is
$od ::':_;s*:.:é‘ YOUTH m §'6 528358
(1) TRNAS (2) TRANS
(/3)/ XZDYQ (4) TRNSA

71. If the code of a letter is its immediate succeeding letter in the alphabet, then the pair of

such letters 1s
o0 3B0bF SHTE IT) wido wond, wirod

(1) LM (2) EK

B3yY,P (4) S,F

The number of letters which are coded as their immediate preceeding letters, is

o Zwodd) vioW), T §&m H#OAS sgc:o Sopg
2) 1 3y 2 “4) 3

~J)
!J

y - <
::'cub,éaa

(1)

There are 5 persons P, Q, R, S and T in a family with three generations. There are two
married couples in them. Ris the mother-in-law of P; Q is not married to R; S is married to
T and T is the son of Q. Then the ratio of the male members to the female members of the

)
L)
.

family 1s
Sdo80e 3

Ssed) o8 Livomod' 506 Sgen P, Q, R, S, T &, &°865° dodd
o. P Bwg), odmd R; R_ez‘ Q8 dadro 588 TS S & v od

-~
.\“"""‘lé 2~
o o zoLHroadm

o
Lo8cin Q @ng, odrdd T oyd & SHoincudghgos® N8, sdads Jggio
a8 PQ eLr
(1) 2:3 &2 oz ©)
(3) 1:4 (4) 4:1 £ o

T e f@‘ ®
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VUPIRRG TRCW R e w w

0% The code for POLICE is
POLICE & &8
(1) EZKVRB (2) EZKRVB
) (3) EZKBVR (4) EZKRBV
0. The one which is coded as YOUTH among the following options is
Sod ::aq‘\s:*ocb“ YOUTH m '8 508350
(1) TRNAS (2) TRANS
'| (3) - XZDYQ (4) TRNSA
: ’
1 71, If the code of a letter is its immediate succeeding letter in the alphabet, then the pair of
* such letters is _
LE eEdo A 50, vEirod' oWl JHBobd dhTd Si) wibo ©o0d, Wrodl
wicw a2d |
(1) LM (2) EK
BYY.P (4) SF
72, The number of letters which are coded as their immediate preceeding letters, is |
! o8, Emo S0k wEo), o' o BOAS cag_c:c Dopg -
| 1) 0 2) 1 32 4) 3
73. There are 5 persons P, Q, R, S and T in a family with three generations. There are two

married couples in them. Riis the mother-in-law of P; Q is not married to R; S is married to
T and T is the son of Q. Then the ratio of the male members to the female members of the

family 18

Sardodore SgEyens) o.f Hotnowod® 5 Sgioen P, Q,R, S, T G, T8S* Bodd

Dird wobendnow. P aos), wdmd R;RE Q8 dodro 58 T8 S & doTrod

550050 Q Glnty, srtd T. ©

2y Pae LT
(1) 2:3 2y 3:2 T2
(3) 1:4 4) 4:1 Pe s

:.’3365.) es 50&3302352;53506‘ S0 08, s b8 ;S:égﬁo

ﬂf—f (T 21-C . Q*:
AT , Y“\l__i_@
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 (C) ©3¥5685* 150 8 o 90 & od Srdyen BEHED Gowrd,
(D) I 266" S'Ga 68050 6. 25,000 398083 W3 IBoa%os* ed)aS o
\./ I /3 ¥ 33‘
(©3F G2oB0) &> 5,000 BousKON “oTd, \}“"‘"{;

A-2 Booklet Code Cl

o - . : . o R se are as given below:
The criteria for admitting a student in the first year of an engineering course are as given below:
The student must

. . ) arl L]
(A) have passed XII standard in science group (stream) with atleast 80% marks. Q40 \
(B) not have more than 20 years of age as on 1™ August 2021. 20

(C) have secured more than 90 marks out of 150 marks at the entrance test.

(D) be able to pay Rs. 25,000 tuition fee in I semester and Rs. 5,000 admission charges at the
time of admission.

In the case a student fails to satisfy

(I): (C) above, but he can pay atleast 60% of the stipulated fees, the case may be referred to the
Admission Committee.

(I : (D) above, but he has secured 95% marks at XII standard, the case may be referred to the
Chairman (Admissions). ‘

You are given the following cases as on 1% August 2021 in Q. Nos. 74 and 75. Give your decision,

based on the given information and do not assume anything. If the information provided is not
adequate, mark ‘data inadequate’.

w8 202000/ FES* 30¢S Sodd)Goes* 2.8 Z)a‘,sg PITA8 Ko dwodTS5dd 808 o
aé‘scﬁaoa. N
&5 Da‘gg ' \.\\F

| e
(A) 28y (5 (Dertio)s* 090 80% Srdyes XIS 8610 6853 womo. W 3 /.
r——"—" L

(B) 2021 wstiy 15 B8 20 HoSdTe Sabitys Dod dodtrdds. /Gt

gfaf{\“

—

3
o8 3¢ o8 Dm‘gg . . ny

(1) : 28 ad)$ (C) Syd6sSayd, Q33008 Gdodnes 90 60% 5LXOND, o RG]
H3F 088 dIdJ;:,

(I : 28 ayd (D) §pddsssyd, XIS S680¢* 95% Swdy e 30y God, v Y
DS (DIFe)s ddsxRb,

74 0008w 75 BHoo' 202] sddy 15 805¢38 §ob éodc‘aw QK Q¢ ow. 2SATER
eeirolSKoon, ) JSSrtro)) vgrdom FNER, NESrY) Bodod. ayd ddrTdo
ShSos Bty Birodo $05GS08 B & KBowod.

IEANTEMEm n.c
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% (3) wiy SEErac

74, Student P bom on 25" September 2001, secured 85% and 65% in XII standard in scicnce
Stream and at the entrance test respectively. Also he is in a position to pay the requisite fees
and admission charges.

(1) Admit ‘ (2) Refer to Admission Committce

(3) Do not admit , R (4) DataInadequate

P ol Dergd 25 Whont 2001 $ 2y, XII$6H06*D i) Deriod S, HIF H65S'
SHBM 8% 20ako 65% Sordoy e By)5andd. ©odmE BYoSEoRS berdo, ©&)A3
ol EQiol ROS* dayd.

() ©dys ds'sd (2) ©hAS EBE Dodd

(3) ©d)s JsErddo (4) dSrardo HBHBNEDS

75. Student Q born on 20" July 2000, secured 85% and 75% at XII standard with science
stream and at the entrance test respectively. Also Q can pay the requisite tuition fees and
the admission charges :

(1) Referto Chairman (Admission) (2) Admit
(3) Donotadmit (4) Datalnadequate

2orgg Qe 20,2000 6° )00, XII 6106* 2T Darfios', H3F H6¢S"® S
85%, 75% .'.’x;gabm BNE T, @IIEZD 0w, OB)AS rhen B9od 285° Q eIy
(1) wgghd (Sdrw)s ddboTd (2) wB)5 BT

(4) Sdrordo HODBIS0SB

76.

Five persons A, B, C, D and E sit around a round table such that all are facing the centre of
the table. A is diametrically opposite to E; C and D are neighbours of A. If there is only one
person D to the right of A and to the left of E, then a possible order in which they sit is

o8 Sgiyen A, B, C, D, Eeo e Hodd Badd o & 20 Bo@BNIH whSnporr
ég-daa:ldo. woloes* A, E oo ogdd Flosg, CSodain D od A &30, FHLS aamd.
A B £ob B85 50050 E8 D65 98,8 &) 558 Dogd wond, 0byks &) Sre)$ions

o8 (Bdoo.
(1) ACEBD A7) ADEBC
(3) ABEDC (4) AEDBC

e —

AR A 23.C
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77.  Seven persons A, B,C,D, E, F and G stand in arow as given below: c
(1) GisbetweenAand E A& C 0 F G’I
(i) F and Ahave one person between them
(1) Eand Chave two persons between them 0 A C\ L
(iv) Dis to the immediate right of F and ®F ’;‘
(V) Cand B have three persons between them =
The second person from the left is
A,B,C,D,E, F %0c50 G el Dékd Sg8yen 28 SEHBS® (§ob DEOM QunTh.
() A Eof 5855 G aayb Ak o ¢ FQ
(1) F Ao% Egd a8 358 oo

1% E= =

(1i1) E, C o Sogges® agd Sgsaeo I F = A q’ .
(iv) F8§ $gm0 %8 03 D aad
(V) G, B o Sgge® S Sgies eamd
QDS (D8, Los& Bost 358
(1) ¢ ) G B E @ A

"78.  Consider the following ranks of police personnel in Andhra Pradesh.
(A) Inspector General (B) Director General
(C) Superintendent (D) Deputy Inspector General
(E) Deputy Superintendent (F) Constable
(G) Inspector :
SOEDBIS'Y & BHS ayS XK G&ghe TgoHe SuEed,
(A) aPE6 =368 (B) @056 =388
(C) drd8oBodods (D) agpges ANES 2885
(E) agrged &odoBodods (F) S‘X)"gawef
(G) =23pgs |
The correct sequence of the ranks from the highest to the lowest cadre is
3&555.1*5 o S00b wd 8595 Pox 565 sod Crgosoese LTSRN &S00
(l) .Aa B.s C: D: E: G’F ) (2) B’A’ D! C7 E: G,F

yB,A, C,E,D,F,G (4) A,B,C,E,D,G,F

e ——

IRTEmEIHmE 24.C
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Answer the questions 79 to 83 after carefully reading the following information.
Five persons A, B, C, D and E are as follows:
(@) Eisintelligent than D but do not get as many marks as D. ABcODE -

(b) Cisintelligent than A but not as intelligent as B. W o

(c) A gets more marks than D but not as many as B. E> 07°

(d) E gets less marks than C who gets less marks than D. ) -P«/

(¢) Eisless intelligent than A. 7 a o

808 3T FEET S8, 79 Sod 83 S68 Ao BHok amm@ﬁwg > 07¢

2858 Sgke A, B, C, D, Eeo §0b dgom &ao: 6107 e7 €

(a) D &c@ EB80333 59 D &obd)) Srdye Soldd.

(b) Agod Cadaszd 52 B wod 3038t 6. ABc0 &
il

(c) D&cB AJ§S Srdy e TFoledd 59, B &08&Q) 58

08 C %08, mos® 59,8 Srdypod E rodoado.

(d) DEgod 858 Sripen &
ARed & B .
N )

(e) A oD E &% 35 8oz3sado. mal kD
YY) >prere ©>D
79. The person who gets least mgrks is asc aCD
edgod dkS Srdy e Fod S8 e
(1) B 2) C - 3 D (4) E

80. The personwho is intelligent than all the others as well as the one getting the highest marks

is
BAOS wodbicd BORSTE T8 wdghE Srén e Lo od 358

1 A (2) B 3) C (4) D

81. Ifall the persons stand in a row according to their ranking in intelligence, then the person
exactly in the middle is
390 Lo’ Tgoto sgrdomr ecdh Sgie s S80S’ szﬁaoﬁ,.éa‘)éom B85

&od 358
(A (2) B 3) C 4) D

i 25-C
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22 The nercdis exaidl in thermilla. S Fall of therm cdond Sa = rrd 2t ng to their rankings in
82. The person exactly in the middle, if all of them stand in a row according to U &sm
the marks is
oL Loty ™o “.’-. E =
&‘&Uu& 28 08 SOV TrgoRs BTdomr SQolE o8 SR T ~850%, Sudn
(& i w
&St s S8
M A ) B (3) C (4 D
83. The person who is the second ranker in intelligence and the fourth ranker 1n getting marks
1s
8228Lus* To&* Togoke, Srdn ol Fodboes' TendS ogossd Ao 338
(1) E (2) D 3y C (4) A

Directions: Fill in the space marked as (?) with a suitable natural number from the given options
in each of the questions 84 and 85 and write it as your correct option.

SS: 84 5.50?11) 85 BHosS (?)e.s d::go:..é =T, SO

[BS &= Sopg s DS osrodcd
Do, TAY D JOFS :a;g'on- o eSIo 3.
5 ' |
84.
121 13| 11 231211 41 291 17| 35 331431} 19
12 39 23 2

(1) 62 @ 397 (3) 29 @) 27

PQ Lty V

vuucha-— = Gevali? &y
Tha, ’F"‘dax U 5 W30, F

;.t'\.jl -~ L IR 3z
(1) 9 (212 (3) 15 (4) 16 I
AIBi>Es NT »

7,8

AR 26.C
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Readt
X hlk information given below and answer the questions numbered 86 and 87.
£ CU >
i jL of edge 8 cms is painted green on all its faces and then cut into smaller cubes cach of
(3
Cdge 2 ems. The smaller cubes so obtained are separated.

& §0d JIS3>rTdo S8, 86 SH0cs» §7 BHes 2a20dd0y,
8 0.0, wotHe & RS0 B, ©) Soare siDE) Sohd® Dowotn B & So TS
TR 2 0.0, wokh EOAS D) DJBoeor BT, Ay SIS DN) STV ALY IR .

86.  The number of smaller cubes each with three faces painted green is
LOT Koy, Sordkd SogreR sidE) dod 3oHds OF) DTe dopg
(1) 4 () 8 (3) 16 (4) 24

87. The number of smaller cubes with no face painted is
Q Jopdnpa Sok Bom wod AN HITo dowg
(1) 6 A2y 8 3) 12 (4) 16

Data for questions 88 and 89:

Seven persons P, Q, R, S, T, U and V teach seven different subjects: English, Hindi, Phy51cs
Chemistry, Biology, Sanskrit and History, from Monday to Friday. Not more than two subjects
arc taught on any one of the days.

Chemistry is taught by Q on Tuesday. S teaches on Friday but neither English nor Hindi. U teaches
Physics but neither on Thursday nor on Friday. P teaches History on the same day on which
Physics is taught. R teaches Biology on Monday. English and Chemistry are taught on Tuesday.
V teaches on Thursday.

88 Soboin 89 BHese Searodo:

Doty Sggoen P,Q R, S, T, U %0050 Voo %060 $08 HETC0 $6% b I3
Spbeo SRTH. v o, o8, F8ETHo, SFaDE TRo, 28 TRo, Vofdo DB
568 D w8, B Both LoB Iy S dyfos TRoshx '
Ssondrbo Q EondE T SB[, S HETGo FEXR, ©ond BOAWTY, robM
SBosd. U FasTBo 0%, wond hhadord, H¥adomd S Qo . FBET Ko

SBod 253 P Spg SO, ﬁ‘w z !‘00 T HI;: K. éooﬁc.fa‘do 20>
556050 SFCOISTRO & S Bodwdaon. V hhado 4GS Dy .

—

g8. Whichofthe followmg pair of persons teach on Tuesday?
& 8ob & ot O 2d Sgien DofdTrdo Seanda?

(1) ST S QU (3) TQ @ RT

M R e e
I t=ee =y

.rd - £ tcxu

x @i, U= B = (=~ wed)
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89.  Onwhich day, Sanskrit is taught?

(1) Thursday (2) Fnday
(3) Tuesday (4) Saturday
Q S, S0 8o S*Qodudidiod?

(1) &Ko | AD) HETEo
(3) oI 8o (4) #ATdo

Directions for question 90:

The second figure in the first pair of problem figures bears a certain relationship to the first
figure. Similarly, one of the figures in the answer figures bears the same relationship to the first
figure, in the second pair of the problem figures. You have to locate the figure which would fit
into the blank space marked with (?) and give it as your answer.

90 BYHSo IS

DB GHL0S') IndE 283060 Ao G OS* Bodd HLBNIH I0EBILIVS 28 I8Y
D000 Kok, wddGomr, 2aren dLIVLS'D wf HLBEW, HFHLoS Todd 23S
S0EEBL0S" LBIENS Joworrd) 00 God. (7) hhre @ FIs0S* 3814 & JLOMD
05N, T D Jdrgrdomr 1dg0d.

90. Problem Figure :

Qo Sbo :
[ V) -
Answer Figure :
220 WO
(A) ®) T AC) (D)
(1) A (2) B 3y C @D

QT 28.C
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Based on the following scquence of numbers, letters and symbols, answer the qucstidns 91 and 92.
508 AEubS Songe, wEEENL H0ck Bodee LHES0 wEEHT, 915000 92@HOR
VErESo n3c0a,

"
A*BCAiY@ @ESMPI2YTIWK9YQID&HSNI VALY

v L]

91.  The number of distinct symbols either immediatly preceded or immediatly followed by a

number is |
28 Bomgd DHDoLI S0k God Tor DDobI ¥ wHvBoULT, INK) o8BS0
Somg ' &

(1) 4 @) 5

3) 6 (4) 7

92. The 22°¢ clement to the left of the 8" element lying to the righ'F of ‘U’ is
‘U’ § %839860 83 Sarossnss d8z9sHe 223 Soressn
(L) B ‘ (2) 6
£3) @ : (4) 8

In questions numbered 93 to 97, sequences of numbers or letters which follow a dlﬁnlte pattern
are given. Each question has a blank space. This has to be filled by the correct answer from the
four options given to complete the sequence without breaking the pattern.

93 Zood 97 5650 Mo BHoS® éogpgoo‘m&), ©ETemd), 28 BN SSorae (éga)a. &éﬁo?ﬁéaé.;g
&%) chEsres amd. B8 PHS’ o8 P Gotnod. ©JEHIDHIrIE Foro SurKon,
s 02 alys Foorh odFe Hod HBeans TS Foomd. '

;&(v"‘ V.3 M ’
B% .6, 21, 52 105 -~ ,301 .

(1) 124 (2) 138 b
,,M‘* @) 186
9 45— '1"«:1
94. 75,105, 165 195\ s
(1) 215 (@) 225
(3) 235 (4) 255
(TR ER 29.C
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IR v t . \ 3 16 28

95. ABDILBDIP, CF1x. ik, ™™
(1) INTE (2) EKNT
(3) EJITN (4) FEISM

___{.f_._‘.__w.

96. HEP, 9“(\01{ FUS, a7 , : |
(1) HEU (2) HEV |
(3) GAT (4) GVT

SES—_ T :

1 T3 -

97. TRQ,PNM,LJI, ¥ & ,DBA
\r _‘} "W o6
(1) EFH £2) HFE
(3) FEH (4) HEF

Directions for Questions from 98 to 100:

In cach of the questions (98 to 100) there is a certain relationship between two given entries on
the left side of (: ;). On the other side of (: :), the correct answer is to be chosen from the given
options bearing the same relation that the pair of entries on the left side of (: ;) has and give it as

your answer.
98 S0l 100 5885 He ;’J-Qoéo Sl

98 :o0d 100 585 o B8 DHS D (0 1) S8 IG5 B@n’) QWS Botd woFdved So85gS 28 A2
Sowogo God. (::)8 Bo&’ E@Sﬁ, &5 mﬂ‘)?o:\’no& (1) S8 65 3PS Ko 28 vore Bgio
Doworw) (R8NoNoTLRT BB JITETR) JOWER, TID D BIwT 23508.

(3) C14D:3M2

e
@ 98. BCR:L::
4© W FGQ :H (2) KPN:T
20 (3) DET:P (4) CDN:O
3" ———
A g9, E1FTIKY -
¢ (F)/ DI2G:3L7 (2) GI8K : 8R7

(4 E13H : 5M8

Vo A
@ 100. AE:26::10:

(1) 496 (2) 296
@) % @ 316
i coee
O00aaan
(I 30-C
e ——— B
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